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I Grade 1

EAE 5] Which 2-digit number below is the largest?

C] FL@moA B A B F AR D
(A) (B) (C) (D)

45 69 87 7|7

Follow the instructions and fill the four numbers 45,56, 68, 8| in D If E_’
means “A is larger than B,” find »%.

C] BB B: Rider45 0 560 68 0 8| mami s g x| M2 gedi[4]—[B]

2277 “ABRe” 0 Bliak = ?

<]

(A)45 (B)56 (C)68 (D)8l

1 John stands at @ as shown in the figure. Suppose an even number is
= behind him, find the number on his left.

C] 4ot B > Johnsbs £ @R o ot 891 FRA A — AL HE 3
RILAGt 9t £ L5 0t P B AL 2

29 ® 54
(A)[71] B)[29] (C)[54] (D)3

Look at the figure. Suppose the sum of the numbers on the two opposite faces of each
die is 7, find the sum of the numbers on the surfaces of the 4 dice that face down.

C] Qo B % ﬁf«ﬂﬂéﬁ%’y&;%'#f%‘i é’Jéxﬁ'J”ﬂEl' @5 LB F e T
RAILAMBE BG Fr AL TFoedt @s Lo eyt 8L Fr@ifor T %5200 °

g

AV VAV

(A)21 (B)20 (C)19 (D) 17
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EE [ Given 80,52, 35,56, 68, 94, 76, 37. How many of them are divisible by 4?
C] 805235566894 T6 37 T s\ikhip oy 34 % 18 ?

(A)3 (B)4 (C)5 (D)6

Some cubes @ are piled as shown in the figure. How many more cubes @ are
needed the least to pile a large cube?

[::]%ﬁ’ﬁ*%lﬁ%%$®$%ﬁfi’%%mﬁ
—REFHE RV EHMSVEAKK 2

(A)8 (B)14 (C)17

Grade 4

= The figure below is formed by 4 [ ] cubes. If a cube [ ]is added to each of the four
C] places in turn, which cube cannot make the figure symmetric?

TERGMEES B IEaRG B £ T @A — @5 E8&EIER KN
EFHLE » FAERREME AREBEL ?

(D) 20

41 B
»
' C |
D
(A) {77 BT (©F] Gy

Fill each of the "+, —, X, =" into the four [ I'sasin 10 ]J1 0 J10[JI0[]lO.

Find the maximum value of this equation.
C] 2lodioJioJioJIosymEJFHEAN T+~ — ~ X ~ + | &—18 >
REKXERRELS D ?

(A)10 (B)109 (C)e1 (D)99

WMI ORGANIZING COMMITTEE




WMIitt SR S R B h 2] &2 )

I Grade 5

= The table shows the number of Pokemon 3/ that John catches at three areas.
C] Find the ratio of the number of Pokemond to the number of Pokemon that he

catches.

T @ & Johntt = A ¥ & IR 2] &) Pokemon &8/ Q%3+ %k » R4 INE] &Y
22 Pokemond $2PokemonQtb & % b ?
Area/¥b@ /3R | School/$4x/%#4k | Park/xE/~ B Street/4:8 /#7314

J d Q J Q J Q
15 | 4 8 10 22 26

(A)2:10 (B)7:8 (C)I0:9 (D)8:9

Use numbers and arithmetic symbols to make the result of the equation 24.
©Each of the four numbers has to be used once.
C] ©Only symbols like “4, —, X, +,and( )” canbe used inthe equation. Each
of them canbe used more than once. It is not necessary to use all of them.
©Digits cannot be combined together. For example, two 2's cannot be written as
22 or 2°.
According to the rules, which four numbers cannot make the result of the equation

247

FABFHREREFR  FIHERXEREN24 -
Ow@EEHBFAHBAELA —R -

ORfe®A T+~ — X&), » TERER B RLEHER -
OHFARELLSHEA > 4o RE2FR L EHFE2282% -

REBRA > TEALEBETREIHEXNEREN247

Ex:@ Answer : 4X6+2—2=24 or (4—2)X2X6=24

A [5][s][1][e] ® [2][3][4][e] © [4][«][e][6] @ [1][4][5][4]
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= The pie chart shows the football clubs that are favored in Li/ly's class. Lilly then
draws the pie chart into the bar chart. Which club is wrong?

C] Lilly# 3 L% E MR B BV E EREMEE > FMA— X REEHT ?

erpool 2
m -

16
12
/ 108 * 8 H
4
anchester 0 [ | |_| |_|

United Manchester Arsenal Chelsea  Liverpool
United

Chelsea

Arsenal

(A) Chelsea (B) Arsenal (C) Manchester United (D) Liverpool

As in the figure, AABCis aright /A where 4B is the diameter of the circle and
=20cm. Suppose the shaded area P is larger than Q by 7cm®, find BC. (7 =3.14)

C] @ NABCR E A/ > =E®AEE > BH=20cm> 4
R & @mBEPLOS Tem® Bl= 2R © =3.14)

(A)5 (B)l12 (C)I5 (D)l1é6

= Given ten numbers 2, —3, 4,5, —6, —7,8,9, — 10, | | . How many numbers
should be deleted the least so that the units digit of the multiplication of the

C] remaining numbers is 27?

2~ —=3-4-5>—=6>—=T7~8-9>—1011X£10@E% > &7 LMz &M@
AR T AR EARBoELET G H2?

(A)2 (B)3 (C)4 (D)5

If the value of the output y is larger than | 00, find the X
smallest positive integer for the input x. |

C] ho B 0 T AR d a9 Ay R A 100 0 Rl A ) & | |

even odd
EEHxZE LV ? 1% $/18 3¢ & WHF K
X 4
(A)19 (B)20 (C)21 (D)22 S
?
+13
Y
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I Grade 8

= Given three integers |, a, and b that | <a<b. Add any two numbers together to obtain
three new numbers which form an arithmetic sequence where their sumis | 38. Find
C] the number of positive factors of b.

ZEEH| a0 b Bl<a<b> BEFIEREEANTHIN=BAINHK > Tl
ZEMBEFHREEZHT » BfZ138 K ERE A LME?

(A)2 (B)4 (C)5 (D)6

Fill numbers | ~9 in the boxes below respectively (numbers |, 2, and 4 are already
filled in the boxes). Each number can only be used once. If the sum of the three
C] numbers on each side is the same, find the minimum sum of 4 and B.

EHFI~IFEAGEATEFEFI 2 488 §HE3BEHFEPH
BEH > ABH R NES D ?

(A)17 (B)I3 (C)l2 (D)II ‘Qo@o‘o“

= Determine the equation of the quadratic function from the graph.

[::j ofE 0 RTFAHBE_RBEGER ? /
(1-2)

(A)y=(x—1)°+2 (B)y=—3(x+1)*+2 O )
0~

(C)y=—3x*+6x—1 (D)y=—3x"—6x+1

Inrectangle ABCD, AB=80cm, BC= | 20cm, find the side length of square S in cm.
C] ho [ FEMABCDF > €41 =80cm > =120cm > R E F HSHy & &k & Hem ?
A D

w2 ®232 (c)52 (D) 48 "
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= Input a=5in30° and b=cos30° as in the figure below. Find the value of the output.
C] 4o [B > % % Aa=sin30° > b=cos30° > Al & & ey 1E BT ?

a®b=a+b |
No l
Start Input a,b Yes Output a@ b Finish
s ¥ #ina - b a®b=a—3b >/ #H a®b ®x
45 Hrxa, b Wl a®b %R
B+l 16 B_1 16
w2 @t o2 o

Set the prime p=(a’—2a+ 150)(a’—23a+ 1 31). If ais a positive integer, find p.
C] W H #p=(a’—2a+150)(a’—23a+ 13 1) #ak E %% > Rp=?

(A)259 (B)269 (C)293 (D)337

= i1y Compute log,3 - log.49 - l0g,25 - log. k.

C] 3t Hlog,3 - log.h9 - 102,25 - log = ?

(A)8 (B)5 (C)4 (D)3

Given that 10?°—2%%is the integral multiple of 2", find the maximum value of the
positive integer .

C] B4 0°° 2% 2"y e > Al E KBt B ABA SV ?

(A)20 (B)24 (C)25 (D)30
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= In AABC, the opposite side length for £ 4, /B, and ~Cisa, b, and ¢, respectively. If
log,(a+b+c)tlog,(a—b+c)=log,a+log,c, find £B.
NABC¥ » LA~ ZB~ ZCh &Kk u5 % Ha~b~c>
#log,(at+b+c)+log,(a—b+c)=log,a+log,c’ Rl LB= 7

(A)45° (B)60° (C)120° (D) I135°

Toss 3 fair dice at the same time and obtain numbers x, y, and z. Find the probability

that satisfies xy—xz+yz—y*=0.
C] Bl B3R 3B N BB F 0 2R B R Ax oy 20 A% Rxy—xz+yz—y*=0
M EZLLED?

A B O+ D)3

6 10

_Answer X

“Grade K_| Grade 1 | Grade 2 | Grave 3 | Grade 4 _
®@ O C C A A C C A B

“Grade 5 | Grade 6 | Grade 7 | Grave 8 | Grade O _
A C B C B D D D C B

“Grade 10 | Grads 11_| Grade 12|
A C A B C B
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